
Thy Sps . 6 :S, - Sz . Sps in c- Tps is given by I
' lo)

.

The map dyp is linear and does not depend
on choice of 2 .

*

b

Remark : Thm also holds for h :S
,
- IR . . .

dhp : Tps - IR is linear and doesn't depend

on choice of I . (exercise)
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GOAL : Express deep in terms of Exi , and { g- r , y's 's

and show it is a linear map .

(In process , show dq.tw) is independent of choice of
I used to define ht

.)
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Since dip : Tps , → Tap , S, can be expressed

in terms of a matrix , it is a linear map .

Further : depth ) depends only on cards of in

writ. { In , Iv } , namely a
' lol and v

' lol

it

Thus dgp Chi) doesn't depend on choice of I that

represents in .

•
to

← many I 's give same W
.

Note: matrix of deep is a
-

matrix b/c it

maps a 2-dint vector space Tps, to a 2- dim 't

vector space Tqcp, Sz .

2-dim I vector spaces !

scalars

*
2×2


